Question Paper Title : TI_02

Date of Exam : 02-07-2019 02:30 PM

Reference 1D:(1685) TN TIT0T 71T, TR 3.

A.MTd

C. o
D .74 HHuft

Answer: C.m

Reference 1D:(1936) SR 6% TRIR JHIAY 3T IRILAT 8 TIex FTAUMAT SHB R 2 TIeR

qToaTe STHEH STd, @R AR SIaumHe e IrRa cahar] 3

A.0.6%
B.0.8%
C.6%

D.8%

Answer: D.8%

Reference ID:(1671) Out of the following options, identify a simple sentence.

A.Alexander the great was deeply injured by tribals in India

B.He was fatally wounded.

C.Soon afterwards he succumbed to his injuries of his wounds.

D.He could not attain his dream of conquering India and expanding his

empire.

Answer: B.He was fatally wounded.

Reference 1D:(1926) TR} Blel.
74,56,89,92,68&35
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B.75

C.69
D.96
Answer: C.69
Reference ID:(1668) Choose the appropriate conjunctions for the given sentence:

and he studies for at least 8 hours every day, he will not
score a 100 percentile in CAT.

A.So, that
B.If, so
C.Unless, until

D.Either, or

Answer: C.Unless, until

Reference ID:(1923)  o&iF HicH T qYg 3R.

ATRIRTSS 30T dfekrad
B. S eRTaH 311U B Ithd
C hieRIgH 31U GIcfRrem
D.®IBIY 31107 GIciRrem

Answer: B. RT3 BiRpy

Reference ID:(1905) Ul € &UUIR,_ - @, GR<1-Ef5M d Uuile I0rm aTiR o,

AdHE
B.aM

CuUH

D.Udh

Answer: D.Udmh
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Reference 1D:(1652)

Answer:

Reference 1D:(1919)

Answer:

Reference 1D:(1907)

Answer:

Reference 1D:(1932)

Choose the option that best punctuates the given sentence:

He said | am speaking the truth

A.He said “i am speaking the truth”
B.He said | am speaking the truth
C.He said, “l am speaking the truth”.

D.He said, i am speaking the truth?

C.He said, “l am speaking the truth”.

YR GRAD JHTAY Bl

AThad Id Jeiigid

B.Tad 9d fAsifarar
C.geitg 3nfor fAifa arglan
D. SNl Tofiarar 3nfor swefiewel FAsifarr

C.guiig 3for fsifa gian

foRareiae A U= 4t (2019) REDR fofah.

A ST Sait

B. U1 HHRY
C.IET Gdl TRRMH
D. q&FRToft At

C.d e ¢dl AR

TR 3107 = & el |fgufian 25 foreht siavraiial @i Araxfiar Herd
3. 3T TR Ihles! 9 Tl iRt 4 fosH=ar amm= arard fHarett sfor f=m
11:30 ToTdT TG aaR iRt 9 foewi=ar 9= fardt. a= A= smemer dat
MEA?

A.GURT 1.30 aToId
B.GURT 2.30 dTSidl

C.qu 12.00 arsfdl
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Answer: A.QQR‘l 1.30 dIsidl

Reference 1D:(1678) Iﬁﬂaﬂﬂﬁﬁﬁﬁ YR Ysar! fayed i,

AT
B.fgdtan

c.qam
D =qdf

Answer: D .Elﬂiff

Reference 1D:(1655) Choose the correct form of the noun for the given sentence:

Mussolini was an ltalian

A.dictatorship
B.dictate
C.dictator

D.dictated

Answer: C.dictator

Reference ID:(1916) HERTY It A weit medl?

A.1956
B.1960
C.1962

D.1964

Answer: B.1960

Reference ID:(1659) Choose appropriate articles for the given sentence:

My friend wore ____ pretty red dress for ____ party.

A.the, an

B.a, th :
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C. an, the

D. a, an

Answer: B.a, the

Reference ID:(1656) Choose the appropriate collective noun to complete the sentence.

A of elephants blocked our way.

A.group
B.pride
C.herd

D.crew

Answer: C.herd

Reference 1D:(1942) 17 AFR, 2017 1 YHAR ). WeTerdep! HIorem guf 17 FigaRar gl
YhaR sal?

A.2019
B.2020
C.2022

D.2023

Answer: D.2023

Reference |D:(5988) el feeedr HARER, ¢ HIvdr Hehdl A5?
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Answer:

Reference ID:(1689)

Answer:

Reference ID:(1695)

Answer:

Reference ID:(1667)

4

/A

//

/A

//

@aRid YeaiH! A Siigl 3ilesr,

A I — TTSTTSTE

B.@'dl — hedhSIC

Choose the most suitable conjunction for the given sentence:

he is our chosen leader, we will support him.

A.As

B.But
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C.And

D.Therefore

Answer: A.As

Reference 1D:(1682) faHT=T 1T 99T AT --- 2

T geRie Tsg 3fcs.

A B
B.da

C. oS
D.SIHId

Answer: D.SHId

Reference ID:(1663) Choose the option with the appropriate question tag for the given sentence.

It is sunny,

A.aren’t it?
B.wasn't it?
C.isn'tit?

D.weren’t it?

Answer: C.isn'tit?

Reference ID:(1691)  Wcitaite! gl SIal HIUKRT 2

A ST — T

B.3Te! — fagor
C.TER — el
D .S — ST

Answer: C.TEH - el

Reference ID:(1918)  HIsHY (SIWeHe) 1885 HTal R AT DT Ulge AR @Ieierip!
DU TSI Pl Blal?
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AMU= AT 91

B.U.311. §gH
C.He Higd Aafag
D.3hS a9

Answer: B.T.3I. gH

Reference ID:(1681)  ‘TISTal He[d ATGUr IT ATHRFARTET 31 -

A DTEIg! = SieTul,
B.aT=IT SIT0T,
C.®Tgig! = @I,
DS Siqu,

Answer: A.a'TIEpf%ﬁ eI

Reference 1D:(1935) (ST 31O &g AT 3 eh T . 16000 IO F. 12000 JUTTHT YAIU[DH B
URTGRIAS YA &l 3 AR, 3o . 5000 Hlee 30T a1 A STURdT
. 5000 Tt AU il 3foTg SHITOT ST Hafdd THT dre Yugrd i
DI 3A?

A2:3
B9:7

C7:9

D.8: 11

Answer: C7:9

Reference ID:(1913) AP TaT §9% BTG, 2015 3fd¥id a1 i, JdT HIVATT 3{dG
TR TN fegare and ufgen sidiehia witierunes
Ut AU JHTaRIS 3G

A.60
B.90
C.30

D.15

Answer: C.30 . .
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Reference 1D:(1664) Choose the correct form of modal auxiliary verb for the given sentence:

it rain, there will be no match today.

A.Will
B.Could
C.Would

D.Should

Answer: D.Should

Reference 1D:(1927) SR JOSEPH @1 FKOALD 3{d Yohddtg &l Sld 318d dk GEORGE dl &
Jhdaee bl STea?

A.CADMNO
B.CAKNI
C.CAKNCA

D.CBLODB

Answer: C.CAKNCA

Reference 1D:(1920) T TgTdl facl! Agfiis SUUg 3Mgd?

ATUDG! 8!

B.1
C.2

D.3

Answer: C.2

Reference 1D:(1653) Choose the correct form of adjective for the given sentence:

In the office, Pawan was Jadhav.
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A.senior to
B.more superior
C.super then

D.superior than

Answer: A.senior to

Reference ID:(1943)  Hifdidhds Ual
EXAMINATIONSEXAMINATIONS. ...EXAMINATIONS i&d
EXAMINATIONS =t 10 ded1 Y-RTgt el 31Tg. Ufgedl curd, 99 fydqma
3ICH 31&R gefaal e, gu=aT TwTd, JaRd SeRimed I fRudid sryaa
%ﬁmﬁ.%mﬁ%wm@ 3{&R I, d 3HER
?

AM
B.N
C.

D.E

Answer: D.E

Reference ID:(1930)  a¥Tasaiai SveAT fagH HTferant ol o

5,6,9, 15, , 40

A.21
B.25
C.27

D.33

Answer: B.25

Reference ID:(1911) (RT3 Aifgd! ISR SMffAgd, 2005 AT HIVIA HaH T G&T=Al
TTfgdi et urgd?

A.Z? . .
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B.11

C.13
D.18

Answer: B.11

Reference ID:(1657) Choose the option with the appropriate suffix to complete the given
sentence:

Children who do not perform well in examinations need a lot of
encourage .

A.-ed
B.-ful
C.-ing

D.-ment

Answer: D.-ment

Reference ID:(1672) Choose the correct form of tense for the given sentence:

It impossible a crying baby.

A.is, ignoring
B.had been, to ignoring
C.was, ignoring

D.is, to ignore

Answer: D.is, to ignore

Reference 1D:(1662) Choose the most suitable determiner for the given sentence:

As he is an introvert, he is not popular and has friends.

A.a little
B.little
C.much

D.few
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Answer: D.few

Reference 1D:(1688) o1, 1, d, &1, o g PIore favedie Uy 3med?

ATYHT
B.fogctan

c.qam
D.ugt

Answer: D.‘Sl}ff

Reference ID:(1915) JUTHED ST SHTIOT ST Y ! deTs dea ar?

A1314
B.1411
C.1678

D.1544

Answer: D.1544

Reference ID:(1904) SRS gR Ui A garel <o et AnfelRia suomarh
(THUIEStSied) ufgelt SgTuT A=l Sraiferd et gl

A3l

B.&HTAUGHH
C.3EHCTR
D.8RIEIG

Answer: C.3gHGITR

Reference ID:(1680) “YTd, T, B’ T A7 UhR 3.

A ITHRT A9
B.favy a9
c.uftfarae 7|
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Answer: D.HIddH & dTH

Reference 1D:(1933) 3 TH S 12 R § 16 Ga9id gul Hxal. I arai-i o S 6,000 YIRS
ddd. & AT TG AT d B 6 fGadid gui el $Td. IR STATd § 97 d1e]
fobail?

A.2,000 T4
B.1,880 ¥UU
C.2,250 30

D.2,440 ST

Answer: C.2,250 ?’"qﬁ

Reference ID:(1679)  UHgaRI% Xeaid! TN SiIa! SHieaw.

A GASITSEI — dredT
B.UyUBEd Tl — §ol
C.GI&f=m — &1

D.U&dl — ®esy

Answer: A BASTSTE — dred]

Reference ID:(1945) A1 UIRU TI! 4 ARIHE Rl R B 81 UIRY fal 6 draiAed R Sl ok
35! U8 Ueh I9Sd 1d, IR Tl YRUITTS! HrAat A,

A8 did
B.9 di¥
c.10d¥

D.12 did

Answer: D.12d™

Reference ID:(1908)  WIddl A d Tt 2010 BT HIHA I T SATI0T SRMATS foher weld (uRr=
W) 10,000 fired yrquara wRfdAe 3T Uash
BTG

AL, Hgﬂf . :
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Answer:

Reference 1D:(1690)

Answer:

Reference I1D:(1700)

Answer:

Reference 1D:(1660)

Answer:

B.Jw, gauf

CH, A"

D.gauf, gauf

CH, A"

‘FICTaR AUy g1 aTarERTET 37 -

A9 gaqul.
B.39d:d UHTIAT ATdul.

C.SieiH! ard &R,
D.§Ic gRaqul

B.X9d:d VBT @Tqul.

1893 HE, YR T ! 3101 THIS YURP, AIHHT 16d TER
feeei-t i HERIYMHI d1ities eRIH ST TUIR TebT HIST Hraol -
SHRIGHHS B, BT I U

Afearat

B.EI3!
C.Torr Tgdf
D . SFTYHL

C.TT0RT It

Choose the appropriate articles to complete the given sentence:

She has two children, __boy and __ girl. __ boy is two and the girl is five.

A.the, the, A
B.a, a, The
C.a, the, A

D.the, a, The

B.a, a, The
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Reference ID:(1928)  WdTci! fciedr AfhHe Sfdial U fARIY %A fGdd 3. AMAR &b ial HH

1,2,3,5,8,14

A14
B.8
C3

D.2

Answer: A.14

Reference 1D:(1666) Choose the appropriate prepositional phrase for the given sentence:

The party workers were busy campaigning the polls.

A.ahead by
B.ahead out
C.ahead of

D.ahead in

Answer: C.ahead of

Reference 1D:(1698) T ST ARG’ IT AT HH s forgl.

A ST

B.HI

C ARGl
DERINIRING]]

Answer: A.é?ﬂ?ﬂ

Reference ID:(1902)  Toiid il AT SMfOT A= SRANTH AP DI BR A4 RIfoRw=
REUIUIE] Y IY-U1e b faH P R bt 3.

A0

B. IR

C.olqR
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Answer:

Reference ID:(1693)

Answer:

Reference 1D:(1946)

Answer:

Reference ID:(1675)

Answer:

Reference 1D:(1661)

D.Tifgan

B. AT

T fecien Xsaiea AT UhTd 31T 2eg di- dTavTe faiTd STeasdrd.
g yaig A,

ATR, I, g0
B.¢8, BT, TR

C.H 9T, =g, NUe

B.¢8, BT, TR

Teh] 419 U= GRIaT e, G sRISR ITRIAT 5 0T, YA S{cRld THTaT 1
07 3101 e TeaT JARTE 0 T[0T B, WeTeTtaht PHIvId Ueb T[0T e q0) Jrad
BRI

A.90

B.91

C.92

D.93

D.93

dlxd, Udel ¢lg Whdh Cldh.” Il qITCilel fehaTug Sfics.

A.d[d
B.Udal

c.ag
D W13 I

D.M\& Cld

Choose the correct form of verb for the given sentence:

The Social Foundation most of its money through donations from
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Answer:

Reference 1D:(1674)

Answer:

Reference ID:(1658)

Answer:

Reference 1D:(1906)

Answer:

A.receives
B.receiving
C.has receiving

D.have received

A.receives

SESERERCE
EERR IR ] — 3.

ATTYTT
B.yu
C.3Ma!

DY

C.31a!

Choose the option with the appropriate suffix to complete the given
sentence:

Being addict to your smart phones can increase the risk of blind

A.-ion, -ness
B.-tive, -hood
C.-able, -ity

D.-ed, -ness

D.-ed, -ness

QT UrT Uied st I ATl GaTuraarul HuaTTe Kt
IIRGTTSRN deTEe 3R,

A BTl ST AaSciedt THTITOA
B0 3ffeart aHred!
C.gRacial I Fusad! gol

D. ST Ureie Tepic

T Snfeart aargdt
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Reference ID:(1670) Choose the correct form of verb that is in agreement with the subject:

someone at the door? | can hear a knock.

A.ls
B.Are
C.Were

D.Has

Answer: A.ls

Reference ID:(1937) XIS $HRA UAD! 3. 990 TAT 2 heagaicydl [deh! dhall. Tl hedgaedr Jrdl
10% TWT T HTFOT GEHTAR 10% qleT AT, HATGRIALT AT AT fdar
dlcl el

AT ABT-AT dleT
B.1% dT W]
C.1% 31 dleT

D.5% T dlel

Answer: C1% ﬂT?‘ﬁET

Reference 1D:(1914) 101 dt UeATHD gxil BRI FafId 3He?

A.SfTimEeT god 3 ST SHREUT
B. I 31101 Tl

C.Rrerorman sifger

D. MU= feepR

Answer: B.Hﬁ&ﬁﬁ[ JdT IR

Reference ID:(1917)  HERIFIdld fSTegITd HINTa T AetaR YRR Sefdggd Udhed SURT
318
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Answer: B.ﬁETCR

Reference 1D:(1683) HIGarId A T UIid HIvMT 3g ?

Adlcg

B.dR0Y
c.ardfea
D.aif

Answer: D.an

Reference 1D:(1921) ARG AL A YOI Tt AgHl it ATdeiel! 3.

A.3dTGH
B.ATHef
C =M el
D.faucs

Answer: B.AigHe

Reference 1D:(1901) IR T Q=T HiRIGT HeiedT S0 gy Aidih WU aroR 31=1
HERIYHE UM JdTad Bedl ST URUTRS UIG I AT B
EINGESIGE

AYcral

B.SITHGH!

C.HAHDBNR!

D.Uouft
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Answer: D.a_o"Uﬂ

Reference 1D:(1934) 3S[ STIOT U FHT SIIhH 40,000 ¥U HTFOT 60,000 ¥ TAAUH Ho
TS AT P& hdl. TN SRR Sofa1 Ty dia fg=ar 10,000 393
gIdl. UHUT AT foblt giel?

A%. 15,000

B.%. 25,000

C.%. 20,000

D.%. 30,000

Answer: B.%. 25,000

Reference 1D:(1449) Choose the option that has all words spelt correctly:

A.Grammer , televizion , promise
B.Grammar , television , promise
C.Gramar , television , promise

D.Grammar , telivision , promice

Answer: B.Grammar , television , promise

Reference ID:(1676)  WTciiciu! AR ATH T UTTT 10T 3MTg 2

AfRarag

B.HTAgs]
C.3Raal

D.Udd

Answer: D.‘ZITDTFT

Reference 1D:(1697) Y%’ 1 s i Wieftates! HIvrd AHATG?
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Answer: D .G H T

Reference ID:(1939)  THI &AM 1, 2, 3,.....,15 =T IBHT 3T 15 DTS 3. SIRTAYT
IRfRIHUV Th HTS Bled . T hledid T Bl AU T=AT T
T BT Mg ?

A1/2
B.3/5
C.2/5

D.1/3

Answer: C.2/5

Reference ID:(1696) AU MHTH - TR STl T el TN e,

A.HTd
B.SHUI

C. B
D.diH FHHull

Answer: D4 Wﬂ

Reference ID:(1903)  XIifohd AIo1 10T Aifgall Urgtt 10T fafaes HRIGUATST 3Tdg HRugmN
ﬁwﬂwwwwmqﬁaﬁwwm
2

A 310 TRDHR
B. ISR IUTNT
C JUTNT IWHR
D oY SUIRT

Answer: A.Gﬂtla YIDhR
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Reference ID:(1922)  fhRIRTGRT MEHBUINIT WIeld Sedite! HIUT Sea Hareh Faferd Argh?

A.3{TaTS T8 §I0T
B.JIdd a1e
C.gie 3rba gl
D.for=it a0

Answer: C.@iq 31%g @ﬁ

Reference ID:(1654) Choose the correct form of adjective for the given sentence:

The law requires reform to ensure justice for all.

A.radicalism
B.radical
C.racist

D.radically

Answer: B.radical

Reference 1D:(5986) TSI 14 qMId 75 U TT8Y ). o 20 drgid af fadl UM ey & dha?

Answer:

Reference 1D:(1938) T BT Thal B Udard ddl. df IH SRIUT FHTTT TN,

A.5/6
B.1/2
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D.2/3

Answer: B.1/2

Reference ID:(1651) Choose the option that best punctuates the given sentence:

Why don’t you visit the doctor said my mother

A.“Why don’t you, visit the doctor said my mother.”
B.“Why don’t you visit the doctor ,”said my mother.
C.“Why? don’t you, visit the doctor” said my mother.

D.“Why don’t you visit the doctor?” said my mother.

Answer: D.“Why don’t you visit the doctor?” said my mother.

Reference 1D:(1450) Choose the option that correctly spells the words to be filled in the given
sentence:
During the world tour, my friend enjoyed visiting and

A. Seatle , Edinburgh
B.Seattle , Edinborough
C.Siattle , Edinburg

D.Seattle , Edinburgh

Answer: D.Seattle , Edinburgh

Reference 1D:(1686) T3 a0 AT a1 Wit 31 -

A T AN 318U 3gardd.
B. IR AN S0 3337 30T,
C. U@ MY HRUTTE 3BT AT dR el A Hyd.

D. 3T ST Sad B,

Answer: C.TTIE] MY HRUITH! S37 3 R pletdst JF fadia.
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Reference 1D:(1929)

Answer:

Reference 1D:(1925)

Answer:

Reference 1D:(1944)

Answer:

Reference 1D:(1910)

e St Ay ket fagH Anferdst gul &

17,19, 23, 29, 37,

A.40
B.42
C.45

D.47

D.47

S AT 3T T TRIERT 9 22 T 3Tg. IS IR aui+l qaid, 3MTs HATor
AT G @i IRIERT 9 18 98 SR 318, R T 9] JaTd 9 H1
3 d?

A4 Ty
B.3 dY
c2ay
D.1aY

c.2ay

R BT 3 9T SRMUSR 44 Seredid! I AAvdy iR gdrd P,
IR fAfeH®R, el foaaied & o drTet $1for faq & fAferar 5 gere

ATGRT FeTe e YdTd o], Sieg] i TH FUd, degl o bt dere
leTdl Srdte?

A.25

B.20

C.15

D.30

B.20

IS Aol HATS Il JuiHe =T Qi AR
UfasTd UG TREHR YT el

A.2015

B.2016
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Answer:

Reference 1D:(1687)

Answer:

Reference 1D:(1931)

Answer:

Reference ID:(1669)

Answer:

C.2017

D.2018

A.2015

SIS UTSH ST T JTeRITd “UTSil 8 GedTd HIvId AT 3MTg?

A YHarEed I
B.HIqdTdP ATH

C.gME=I ATH
DACEILKIE

C.HMHY qMH

3{ 31101 § § &IF o S &f 311for 7 |1 faapTurige e Sf T iU 390
fdl @i 8ld. d SR 3rIeha arRit 5 fadt an1fon 8 fosttaar o A= favg
3R ST 3 R o THABHI bl oM Saisdia?

A0 d
B.20 dI¥
C.30 d¥

D.40 di¥g

C.30 d¥

Choose the most appropriate usage to fill in the blanks in the given
sentence:

He is to drinking and spends on alcohol every
evening.

A.addicted, lavished

B.addict, lavishes

C.addition, lavish

D.addicted, lavishly

D.addicted, lavishly

https://www.freshersnow.com/previous-year-question-papers/



Reference 1D:(1940)

Answer:

Reference 1D:(1912)

Answer:

Reference 1D:(1924)

Answer:

8 SRabcdld WosiHe, fUTal 7, 4, 3, 6, 8, 3, 1 30T 5 T[0T fAyesTal. forean aem
Qe faar 10 T B 707 fsTar SM1foT 7 Wes T TRIERY 81 gurfes gl
g1 o agrea WesrH e, e 10 Ualm St 707 fiesTel 3M1for 10 Wesrarat fod
TRIERIG! gUIieh gicht. TaeaT ST ggre W e fo- fesacten or=
IRATT UTHR BT 3MTg?

A.35
B.40
C.48

D.56

B.40

(SRS Hifgell BRI, 2005 =01 Ufged ST Aral THTART
38"

AT HifRdY 3imged febar At mgedi=t Bugren 2l fhar srAeTr
WY

B. o cledT JR&T HRIT
C. 9 \ifedt sifdemr=ait arc

D. 37UTeTAT TRl

A TS Hifgdt e fdvar Arfgel sgai=il duaran Ut foar s
WEY

QI ol T 16 A1 B M. 6 ANIYd! HISATd 99 YTdH AU 3 U
BId. R HeuTd YeaTd 99 BTy g ?

A15

B.20

C.25

D.30

D.30
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Reference ID:(1673) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

He’s like a bear with a sore head.

A.angry
B.injured
C.bad tempered

D.jovial

Answer: C.bad tempered

Reference 1D:(1684) BIHUP BT WP Yeq DIVl UTUIRITS! ATURET STdi?

A DS
B.Rig
CTXd
D.dg®h

Answer: D.W

Reference 1D:(1699) 14@@2018%%@1 TWWW
“TPHIAIHD SHIY! Sigd ™ 3gdIe dhal

Answer: D.B'Iﬁf

Reference 1D:(1694) T T YeqTd HIddTadh 1 PHIUd 387

A TTE

B.HI1d

C. 11U
REIGEI!
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Answer: AHI¥d

Reference ID:(1677) HRId Y HRTS a7 T ol oy -

A TR T3 a9E BI0.

B.SETYHTU 38R 311,

C. 3T UUCYHTO & BRIl

D. S $d 3T ATIHTO IiTcaTge Hes YT arTd.

Answer: D.SY $d 3R ATIHIY! IiTeidTse Hhes HIMTTG ANTG.

Reference 1D:(1909) THI by el 3 SfeargR TS RIS ufdy YRd Wl
IRy (19 auiEreie) g et gid:

A YR HgHt
B. 3 @
C TR AHadhR

D.dR Il

Answer: C.He Y HFTIadR

Reference ID:(1692)  ‘fasT IT<0r a1 ATavaRT=r 37 -

AU 1o,
B.fas1 I @,
cfasr o,
BRSIGE| K

Answer: D.Dﬁ?ﬂ ?:h_{l'?f.

Reference ID:(1665) Choose the appropriate preposition for the given sentence:

The neighbour peeped the window and found the woman lying
UNCONSCIOUS.

A.from

B.
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C.through

D.into

Answer: C.through

Reference ID:(1941) 20, 15, 10, ... U1 HifbHLN 159 UG BT -T2
A.-40
B.-45
C.-50

D.0

Answer: C.-50
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